f Class: I

TRIAL HIGHER SCHOOL CERTIFICATE
EXAMINATION 2011

MATHEMATICS

Time Allowed - 3 Hours
(Plus 5 minutes Reading Time)

e All questions may be attempted

o Al questio.ns are of equal value

e Department of Education approved calculators and templates are permitted
» In every question, show all necessary working

» Marks may not be awarded for careless or badly arranged work

» No grid paper is to be used unless provided with the examination paper

The answers to all questions are to be returned in separate stapled bundles clearly
labeled Question 1, Question 2, etc. Each question must show your Candidate
Number.



Question 1 - Start a new sheet of paper

a)

b)

c)

d)

9)

h)

Solve x?-3x-18=0

Convert %Z radians to degrees

Write down a primitive of sec® 3x

Solve [2x-1|=7
Write 2 with a rational denominator
V17 -3
Given f(x) = Six X<3
(x=3)% +1 x>3

evaluate 2f (4) - f(-1)

Find the non-zero values of x for which the geometric series

i)

2-6x+18x° —..... has a limiting sum

Write down the equation of the locus of a point P that is 3 units
from the point A(2,-4)

How many times does this locus cut the x axis ?

Question 2 - Start a new sheet of paper

a)

b)

Differentiate the following with respect to x :

i)
i)
i)

InVx*+3
(2x* +7)°

X2 cOS X

The equation of a parabola is given by 8y = x* + 4x +12

i)
i)
i)

Find the coordinates of the vertex
Write down the focal length of the parabola

Sketch the parabola, clearly showing the focus and directrix

Solve the equation sec’x=4 for 0<x<2x

Marks

Marks



Question 3 - Start a new sheet of paper Marks
a) Given that log, 5=1.838 and log, 2=0.792, find the values of

)} log, 50 i) log, (0-4) iii) log,, k 4

b) An unbiased spinner, as shown, is equally likely to stop at any one of the letters

A E I,OoruU
)] If the spinner is spun twice, find the probability that it stops on the same
letter both times. 1

i) How many times must the spinner be spun for it to be 99% certain that the
spinner will have stopped on E at least once? 2

c) i) Sketch the graph of y =3sin2x for 0 < x <2z (Your diagram should take
up at least one quarter of a page.) 2

i) Draw the line y :g on the same diagram, noting particularly the point

on the line where x =27 1
iii) Hence determine the total number of solutions there are to the equation
6sin2x—x=0 for all x 2

(NB You are not required to solve the equation but you should include a short
explanation of your answer)



Question 4 - Start a new sheet of paper

a)

b)

The gradient of a curve is given by % =3x’ -4
X

i)
i)

i)

d’y

dx?

Find those values of x for which the curve is both increasing and
concave downwards. Show your reasoning.

Find

If the curve passes through the point (1, -2), find the equation of the curve.

The coordinates of A,Band Care (4,-6), (-18,0)and (0, 6) respectively.
D is the midpoint of AB.

Draw these points on a clear coordinate diagram and show that D has
coordinates (-7, -3).

Show that the equation of the line ACis 3x+y—-6=0
Show that the line BC is perpendicular to the line AC

Therefore AB is the diameter of a circle which passes through A, B and C.
Find the equation of this circle.

Find the circumference of the circle , accurate to 1 decimal place.

Question 5 - Start a new sheet of paper

a)

b)

A ship sails from O on a bearing of 130°T to the point P. P lies on a bearing
of 030°T from M where M is 120 kms due south of O.

i)
i)
i)

Show this information on a clear diagram and confirm that ~OPM =100°
How far, to the nearest kilometre, is P from M ?

A lighthouse is located at L which is 40 kms due south of O. What was the
closest that the ship came to L as it made its way from O to P.

A substance decomposes such that the mass M (kgs) remaining at any time t (hrs) is

givenby M =M e

““_If 2 of the substance has decomposed in 4 hours, find:

)} the exact value of k

i) the value of M, correct to 2 decimal places, given that 4kg of the substance
remains after the first 90 minutes.

Simplify 1+cotd secd

cosecd - tan @ + cot @

Marks

Marks



Question 6 - Start a new sheet of paper Marks

a) i) Find J'xsin(xz)dx 1
16
i) Evaluate Iﬁdx 2
1
b) The quadratic equation 5x* —(21+a)x+a =0 has two roots, with one of the roots
being the reciprocal of the other. Find the value of a and hence find the two roots. 2

c) A polygon has 60 sides. The lengths of the sides, starting with the smallest, form an
arithmetic sequence. The perimeter of the polygon is 1770 cms and the length of the
longest side is three times the length of the shortest side. Find the lengths of the two

shortest sides. 4
d)
y
2 4
x=2 /y:eX/2
The diagram shows the region enclosed
between the two curves y =e*'?
andy =1-x? and the line x=1. Find the
1 area of this enclosed region. 3
0 1 X
y=1-x2
Question 7 - Start a new sheet of paper Marks

a) PQRS is a rhombus, angle P being acute. X is the point on PS such that QX is
perpendicular to PS. QX intersects the diagonal PR at Y.

)] Show this information on a clear diagram and explain why ZSRP = ZQRP 1
i) Prove that triangle SYR is congruent to triangle QYR. 3
iii) Show that ZRQY is 90° and hence find the size of £YSR 2

Question 7 is continued on the next page.....



Question 7 (continued)

b)

The velocity v (kms/min) of a train travelling from Epping to Eastwood, is given
by v=t*(3-1)/3, wheret is the time in minutes since leaving Epping.

)] If the first stop is at Eastwood, how long does the journey take?

i) Find an expression for the distance (x km) travelled from Epping after
time t (where 0<t<3)

iii) Hence find the distance from Epping to Eastwood.

Marks

1

iv) Where and when, between the two stations, was the train travelling the fastest? 2

Question 8 - Start a new sheet of paper

a)

b)

Stella sets up a prize fund with a single investment of $1000 to provide her school
with an annual prize of $72. The fund accrues interest at a rate of 6% per annum,
compounded annually. The first prize is awarded one year after the investment is
set up.

)] Calculate the balance in the fund at the beginning of the second year, after
the first prize has been awarded.

i) Let $B, be the balance in the fund at the end of n years (after the nth prize
has been awarded and while funds are still available).
Show that B, =1200—200x (1.06)"

iii)  Atthe end of the tenth year (after that prize has been awarded), it is decided
that the prize will henceforward be increased to $90. For how many more
years can the fund be used to award the full prize?

i) Sketch the graph of y=e" for 0<x<2

i) The portion of the curve y=e” between y=3 and y =5 is rotated about
the y-axis to give a solid. Show that the volume of the solid formed is
5
given by nj(ln y)?dy cubic units.
3

iii) Use Simpson’s Rule and 5 function values to find an approximation to this
volume (answer to 1 decimal place).

Marks



Question 9 - Start a new sheet of paper Marks

a) The diagram shows a 16 cm high wine glass that is being filled with water at a constant
rate (by volume). Let y = f(t) be the depth of the liquid in the glass as a function

of time.
— 16cm i) Write down the approximate depth vy,
B at which ((jj_)t/ Is a minimum. 1
_— 12 cm
- i) Write down the approximate depth
- y, at which v IS @ maximum. 1
—8cm dt
B iii) If the glass takes 8 seconds to fill,
- =f _ - - -
[ e y=f graph y = f (t) and identify any points
- on your graph where the concavity
~ changes. 2
—0cm -
b) In the diagram, CD is an arc of a circle with radius 8cm and centre O.

M is the midpoint of OC and angle COD is 2?” radians.

C

Find the perimeter of the shaded area CDM in exact form. 3
<2t 1
c) Find the exact value of k (where k>2) such that I3t2 1dt = §|09e 13 3
) 3t? -
d) If a, b and c are consecutive positive terms of a geometric sequence, show that

loga , logbh and logc are consecutive terms in an arithmetic sequence. 2



Question 10 - Start a new sheet of paper Marks

a) State the Domain and Range of the function y = 2v/25—x° 2
b) uate 3"~
Evaluate _ 2
Jr+1+4r
c)
Diagram Not F
To Scale 0
240m
D 3000m
G P

The diagram shows a farmhouse F that is located 240m from a straight section of road,
at the end of which is the bus depot D. The front gate G of the farmhouse is 3000m
from the bus depot. The school bus leaves the depot at 8am and travels along the road
at 15 ms™. Peter lives in the farmhouse and can run across the open paddock at a speed
of 4 ms™ The bus will stop for Peter anywhere on the road but will not wait.

Assume that Peter catches the bus at the point P where ZGFP =6.

)] Show that the time, in seconds, taken for the bus to go from D to P is given by
200 +16tan @ 2
i) Find an expression, in terms of 0, for the time taken by Peter to run from
Fto P. 1
iii) If Peter leaves home T seconds after 8am and he and the bus arrive at P at
the same time, show that T =200+16tan & —60secd 1

iv) What is the latest time, to the nearest second, that Peter can leave home and
still catch the bus? 4

wxxsxx THIS 1S THE END OF THE EXAM s



" J KAHS

*

MATHEMATCS (2 umiT) “TRIAL 2061

©ZOOW TRAR L. W SC RIMATHEMATICS: Question...)....
Suggested Solutions Marks Marker’s Comments
(oD F e R\ B D L enosk Sec
(o oy (A B 200 ] i WOILE
- ‘:—% T -y 'O
e ™= O NGO
A A 1y
= P !
_@__,Fsﬂ&m = Vo . Co 1 +C aot pnmm\'\-z.ed
. QB O PreTeFrTIE.
Sea B & MoTon B0
) lzoe | = 7]
2-.3.9—-—‘ f—'.-'l — o0 Y =] U omoais Lo ennh
b B - —me ) =T NSRS
26 b = e i e
2. D i '2“1:\(‘\:\—\-‘9 no corey SadRTes
N~ ey 2 \ Tom T srm?\ﬁ&?ﬁ
=N
[y
AT AES A :
26D = -31 =2 \
2R=5E0 = \
=
L) G B BTG | o d o L cnortk
& =
Foc licoikina aesa.dolss
R [Si'cf\‘-cl
A X P Yo ]
= -3
CRWETENI - SN WAV on et : [
(DR TR S, (R, LRS00 M a2k Dol
Iteaxss.anddoe. cadmmis. | )
: LSS\ PRGN
[ -y
AY

*ALLISTOVStaffHom «5\WOHURAH M Fac Admin\Assessment info\Suggested Mk solns template_Vd.doc .

-§.

A
= X Cos 25

© 4
;?c. = o CeaX, ~ xl‘)"r\JC (_Pro&u‘é‘- R“\e)
= = C.,'Lcos 2 -—x‘i‘-rwcs
L\@Q %é—:- Kk d e
g\$=;+41++ <
T

U@ = (pc.t— ‘Z)ll

& a—g = (o :z_)

L yeftex s (_—'3,9

W 4=

MATHEMATICS: Question.. 2. .. Loy
Suggested Solutions Marks Marker’s Comments
@@ o s
- '6—; 1-;_\(-\ @'4—9 \,2_
A.B 1P
A T 7 TR \
z
= ‘é_
{w Lés— (2t + :}-)
+ 2
%’.’%c.:g (_11-""'}).4‘1'_ ‘/_2_
. R
=125¢ (24 %) Yo

o= - ’ro.a\ \ené)‘;\ A °l \
": b
G{D eLj: i.‘; My -Qv( 5—1&(%@_}{'\
/ My Loe “C°°“"$
\\I‘.‘_ 02 \""}._ ’Q( A\(ﬂ’-e“:‘%
) v L dnape-
- - 1 rd 4 :j —1 \ L" D\Q
'S - i
(@ el =4 crmx= 2F # T Ben adi had
n By S
Coa ), = Jﬁ: x-:j_‘__ 210 A7 S| 2. z.mswer:-, — \ Mofk
N i A # T8 e Nad coswaY]

WrEve. Aoue

(._;‘i\) _\3'"2‘;5,35“

s P

WCALLISTOAStafftom eSYWOHURAH M Fac Admin\Assessment info\Suggested Mk solas template_V2.dos

Snd w'f‘" 2 Ana s =



JAls @ TRIALS

MATHEMATILS 2UNIT

(ueston 3

Hug 2ol g~

Exf’mep AnSuges

Mais

CommedTs

')

égiziogl

2x|83¢+ 09
(ll) ? (0 ‘:")

= /eog«l-/eog g
= 0792-1.23¢
= ~l.ogg

) {bcdf' ;ﬁ
- T

- 1
5+ 4oy 2
,fa;?_ /fa}&
{
Lesg+0-792
+
2.563
doo.
263

= 0.280 (gl‘LE)

=

Al

\

(Y

PRy gu{ﬁ

.

[ B o

= 1W{?&f

P

- Stm

o

wi-

v

Fq"’(’ WCC( done

q&tﬂm{% not well

numwlmé

o resocbrﬂ 1‘4{ ”
v WAy ’z "F a““’"‘
LY {4 I&F{' @ '2—[-63

:
>

JIAGS TRiALs © MATHENATI AW @ vy s
Question 3
bxPecres Answers Manie | CommenTs
) ) Flsame, lefler | botn tues) e Mo morks of £
- [\ .
= ( g) x5 ”%
_ AL
Y i
‘ :
! .
(n fe)=4% = PE)=1 L Jae £ f ne27¢
et m - "‘:‘“b‘f 9’-155”]’“5 , . 58%“5 rw)r‘{g
T G}) Z 0.0| 4 e
("/',’)4{ ?éLo
no> fvg to/ﬂ?ﬁ(%)
ho> 204 (1dp) i
<. Number of spuic w21 4 froreed,
r tonclugian
€) v e ) J;a«pf.ﬁ«(;
3 (27, 7) | .
1 pered
>
1 sale
1 rhepe

(1) Nere are 4 .Sa{ fims Pr x 3o
as an be Seea on the ﬁ{jﬂ:h
and. alby cu«ub T>3,
be  no Fam ot ulorsatin

x>2r! for x¢o0 awnf x>-

Doy wedd be a ferter 3 Po_l‘g
Hoe tilel nomber of Solefions

" Z

. ? L L " ;x
E Al E'\/'zﬂ-
~327 ;
}: sty

L)

GI)J‘,, fDr [ZTr,‘rr)

1 for labelied lmg
Yo' tag secqin

Q] _

(Ji) for rf-uams:' that
bsmIn-% =0 fﬁn,‘
{'o Ismdr =T

() Br & fc/&ﬁah;,x;a
{n for the 3 J‘o(u‘ﬁm;

xLg

Bblnl of 7




MATHEMATICS: Question T

MATHEMATICS: Question &

Suggested Solutions Marks Marker’s Comments
Z . .
a) i) %ﬁ = 6x I Cbrru.ﬂj differontiates
@) R cume-b b2 increasing, y'r0.
ie. 3x*-y >Oq
L
x" 7 —é—
LoxyE e xez d Salwey mgimuiy
= 2
\J—g- 3 -f&.r Vr
For cwrve Ho ke concave olown, Y <0,
je. 6bx<0 ;’_ Solvey "meimidy
%<0 -f-a.r Y
-2 ; Hon
—_ . Tadetd tersec
< N3 ‘9"{7 { ins
ki) y = [(3x*-4)dlx
y= % -Yx te I | Jndefinite intgral
Since curve pajies -i‘:k'—uujh (-1,
. YT
CZ = !I e ! Correcl:lj envadluates
3 Congtond
SoyERT Yx +]
b) i) Y ’
c(o,6} 7 | Acurate oLLaer
—— >x
B(-18,0)" ~ ~ _ °
D("’h h;)‘-“ = ~
-1844 0-G Rt SO x e
D> (“'EL T) | A4,-6) 2 | Caleulate midpoing
of AB
= ("1l"5)

Suggested Solutions Marks Marker’s Comments
b) Gontinued.
i) gy = £-Ce) 2 | Cormect wi of
o1 aind g rodli ar
) point=g codiert
=-3 Fuopaint form
o Eguation of AC i y=6= ~3(x-0)
y = ~3x+6
3% 1‘7 -6 =0,
W) My =-3 (shown above)
Mmge = 6-0,
0-(-i8
_:,( . L | calewtate both
“ 3 3{0\5&&/\:65
.M, x = "8x _}L
S My x Mg 5| Retate gradients
Ac_t Bc.
iv) If AB s diamster, D(-1,-3) s centre. T | Cedre @-ardlinate;
Roding AD =af (-1-4)* + (-316)
E IFTEY
= JI130  units 7 | Radiug
2 Cudde oquation: (x47)*+(y+3)" =p30. | | Equation
v) Ciwwmfrenc, = Zmr
) - 2 x Ji30 3 | Exact valw
= MN-63933y - .
2 M6 wnits (Id,o) J.;_ Co.mz.ul':Lg aﬂarwatmatq




| JRAHS TRAL : MATHEMATcS 2u g, 2011 0
Qc
Extecren Auswess Metes | CommenTe
1) ¢) f”
O' !30
2o b, 1 fr
L torvect
dmjmm
M
< fom = 5o - Cm{ nceuf 5 {’ |0 M%y studnt,
o) ' t assumed
G add Ayt 15") C ton - &
" Lofm = 130" (So+30) - (%!es/f 1 fr
{ o A ToM %’ﬁm&th
= foo add, G
180 )
(m Msrnj fme ale o B Pom
= & L4 hedait
Sin CFOM Sin COFM m‘i&ﬂ”& . Z’:’%td, 4,
¢ e
= fm = lwsx -S"gfb "yﬁ?{fmt ea [enlactor d{f})’aj
in
42 ! + Some atndents
= 423 tt-e Am omctlel Awanall
= 93 An (nearsst; £n) Lor el tonclusion , 1y
P 83 A agay fon M| fr Usitr Qustion
(in) Shortest distamce o Lsél,of’) i;za@g
. : * _ {
o T A LOS ' Sy —% I mark | Some made SLLok
LS = YpSm 5o
otk be shel o £o = 30.64].- ) mark-
E Bl b sk b

Ectecreny Answers Margs | Comments
b - -kt
)0) M=Me " = amount o A Large numbe
rémaming ity
Whay =4, M=%M, | B | used m=Z M,
4 Lotk I | v B
op 4 . was | marle
N . .
A= 2hnr L%'M L Py e
he et vl
br 4w
Fln(5)
(N) wha. + =9 minafes = 13 hrf: . mﬂm Mﬁ
{}‘eh m=¥% /% CZT& 9[‘1{( ‘io'f
- A
t =M, fetts % 'ZM
b t Liug are
Mo - 4, e ' Z:;:;{' {’af@r%
3/2_,:7_,541
: 6'17,4&11 @sz{w
= 4 .l ol hot wrrifﬂu
— £.727... Fpr f§f7 C(O"f()ﬂ.
= 6734 (2dp) > ’LJDSGM v o marlc dodkel
. MU 0 973/% ‘T if %G[ud‘zz
. atutment onfilled

(R




@"‘JLM

BG

[+wlo _  Seco ,Jmﬁ it
losec ¢ funo +lote 26l 2 )b;y
Cose L "‘\“S’ly -
= f-f-_i’aq@ losg ﬁvrex es;n 94-{},&{,. Wfﬁ,:j
y S'“ft@ 0079 {?U@(‘ , ol .
Sing o | Siap w frwsh? > .
JWIEM/N ‘ot py=|
= ding 1+ £ _t e wa, wot otalel
m@ CoSo (Sm e+Coca) b Yepressed.
oo sug l Q(;r "
i Jtm()!f%!t 'b1 .
= SM9+¢U76 - j——“"—'*) 2,,2.{' -&efcij o
me(@sesme
X
L/ s r
= St H — 7 1
Suo  Cos / Sug Sinlpt toolp=|
= - S{
Smo+ Cose - Stng L b
.

2011 TR 8EC. 22D MATHEMATICS: Question. (2. .

Suggested Solutions

Marks

Marker’s Commeunts

Lola (i reanC) dae = X ConE)ak

Casl{z®) 4l voithoot
Pl rotnea leses,
¥ mark

P T S w5

I IR

E{by—)

1

= kD

fL:l"'\ q“r-“'-— faj-l-o..\bc_-\rq y
R TP N Y W

mmmm%

= \ whese, = Q.
— vl e
D =y
—
Q. = 5
Bt 2w S = O
(Baczsdzens) = O

Rmm%ep:\d.

| Foo eoch oot

S A U - = e T o kW W -

s IS e S LT RS L S R

Do =

‘3%1_ 20 + S | =\

oo YTl = 110 s (D)

Q=g o 53\ = Ba
Do T A
s loon = A

SonlE in o

-('z.')

W T W O e . . Wl o W c A=t
) oL = Y B
i QM BShosiess. sidas,. ol g BRI S50

‘/\'

iy

| oemesR Foo aads
\Q’\?S'rh

S R Y- Y S

WCALLIST O\StaffHom eS\WOHURAH M Fac Admin\Assessment info\Suggested Mk solns tsmplats_V4.doc



\ /8 [

a//a
MATHEMATICS: Question, T priedll ! MATHEMATICS: Question.. .. oy
Suggested Solutions Marks Marker's Commeants ' Suggested Solutions Marks Marker’s Comments
» ‘ A 2 X S oome. Duderty] (bu') é&bfs taen v
% At\én;\—'\‘ wse- A t?' £ —
\ —
/2_ At . ES Sdd e
. - e‘-kor_f. Unen = o +£=3 @ 3\ r\
’K ’ AIron O~
= - -’Sworneﬁ l\-z‘\ae.s 3 “‘"\"\‘3&'&5 ‘3 é
(“2 45&():.( ReE (.A“azr\a ‘Q (\‘P s \/‘l L‘\-D %Ia:é - €3@~9 242 1 a2
“‘**”“'”ZB" 3 cE oL -v-3 1
'“"\1_ qc%@f) oo = -}E-Q ? Iy \QE} ena. Ma\fk' "Q
. >
UNY N = M Hnem Lrot M
IR As‘AGKJ\jQP\ 7o Chen € )lt;ol & T i‘ +? S
<5KP = 4Q&€ (_f(fovﬂ‘\ a\:::éue) \/2, to D= Fhe — \—ié \ .
p — = 1 -—-—3
Qb= A @‘:Aes e& 2 Ahorous y LIRSS '(:‘3) b 3:1 127 \,2—
are- o\ eo\va\\.B ) -~ . o * V.
ME i3 conmpma \/2, 2. T s Dk Leoen éff:r\gﬂ Cadroopd 2
A NSR E A WEL, (;.P@ 1 b o 42 L .
) £ 5 H ‘
Qelles  (oppite siden 55 o rhocke g | P \
e DA 2\e \) 2 3
e J ‘ R R e -
b= < (OB (D G\Jl'ern*e \e.s afe. . JE~
&, { Xy
. =q )‘ﬂ \lfﬁ Ier = 1- Q—'& N
\D\')r CQQ'? =fc u}’\a\ £=2 A"—:. - + el 2O ’LQ MS\A;\—\-
\( Q—_‘{_‘) aloa < PP NV TV A AOU“\ \/L_ ;\5&\,\5’5 h\f\ %
° Z‘“:’B‘SK = L&:& (f”rceS?Or\A- Yoy Socelde oo was Nne Lpaxe
=9c” N Com ro@)\‘r v, [,3.«\9,\ -E,::L) 20 = %(_:Jg-— T‘?_(}{r) \ o< 'Ee.é‘ Y nare-
\ = !L_ A’ —E;-.—::.L M\osh
e e‘°\“°‘> =% ’
i 41 VD. [~ F’W’K\-\.
| - e MAKTAULA 69&2-3 A = N ‘!3_
&U 9\ Muf\ﬁ%es-
LLISTOWStaffHom eS\WOHURAH M Fac Admin\Assessment info\Suggested Mk solns template_V2.doc

WCALLISTO\StaffHom <SYWOHURAH M Fac Admin\Assessment info\Suggested Mk solns template_V2,doc



MATHEMATICS: Question

Suggested Solutions

Marks

Marker’s Comments

MATHEMATICS: Question &

a)i) B, = jooo x {-06 -T2
= 98V

. Bolaaw s FI58.

B, x o6 -72

(000 (1-06)* - *72({-06) - 12
fooo (I-c6)* - 720106 ¢1)

- 72106 ¢1-06 ¢ 1)

i) B,

(TR

B = 1000 (1-06)°

2 Bz 1000 (1-06)" - 72(1-06"" ¢ 106 ¢ 1)
- L 106711 __ Eausnen
B, =1e00(l-06)" - 12 [———-f oc ,} oNE

tovo (1-06)" - 1200 (1-06" - 1)
+1200

L]

{oeo (1-06)" = 1200(1-06)"
B = 1200 - 200 (1-06)"

iii) By = 1200 - 200 (1-06)"
. &4I-83046 ---

let Cu be the balang at the ed of A
years after the prive increagey

1-06" =1
= Gy = 84l-%3(1-06)" ‘70[”JG ,] 32 amon
= But-83(1-06)"

i

a4 re.zu.irul )

- {500 (1-06™-1)
Ca = 1500 - 658-17(1-06)"
The fund will run aut when Caz= g,
ie. 1520 -658.17 (1-06)" =
(1-06)"
Isaew
o= lojros[m’ n]

- Inl300 — 6581
ni-06

-y .-

iseo
65y -1

fal

. Full prize can be given for a
—Fur'ﬂ'\lir' f"’ yeary., 9

o 2

(R R

(Rt

M-

.

Imtufr-e’ij zm{-wn
Evalustes

Esteblsh /a.aﬂw

Tolentity &P

fr‘.mfﬁfj

E\/ﬂ.b-l.ﬂ:fifg & o

Equation fur

rew balance

Suggesied Solutions Marks Marker’s Comments
7
b) i) 1 (2, e?) -2" Accwrate Sl'mfz
;"‘_ Grrect domain
y=¢
(6,5
1 2 0%
i) \/=e.x
X = [ny / Mahe = the
- ({/‘Ly)‘l Su}y&f—{
b
Venf, x'dy  whee 423, b=5 I | Farm indegrel
5 B
=Vl lay) dy
@) ly| 3 | 35| 4 | 95| s
2 [ 1-099 | 1-253 | {-386 | [-50Y | {-609
L3 : { Function valwed
a | 1-207 |1-569 |1-912 |2-262 |2-590
5 2
V= T[f_; (:uﬂ dy
mow 2 3 (o« U, 4 2 U5t f,)
A [f 207 t 4(-569) + 2 (I- qzz)] [ | Carrect wie of
T 1(2-262) + 2590 Jimpgun’s formuls
A [2-02576 - --
& 120 wnits® (1dp) || Approsimated
arduwer




q ' MATHEMATICS: Question 7
MATHEMATICS: Question . Suggeste I Solutions Marke Marker's Comments
Suggested Solutions Marks Marker's Comments 2 .
- L
r.) L) &S Mmanimem whm Stm A5 wiolegt, c)fll 3#"0& ] 34;’--; oAt
! .
ey Fl | Aeeepted g - 3[&»(3&‘-’)]: [Ttk
G s masimum whea glass s bhirmest, ' i3 . é[mcak‘an—m(/z—n]
. -yl ] Accepted 21 :
(i) Gonconity chongey ot v, &y, . " -
'z[ﬁd 7 || Poinds of infloxio 31.{—: B} { E%m S
i
1| Endpaint (¥,16) 3kt- = 143
3t = 149 . .
Lls (ie. Correct 1 Simpts
2, hﬂfce:nmufsi i kl =q8 L ﬂf 1@
>t ! I = £4J3  but k2 £ | Contidder restriction
) As M bisects CO, CM =Yem . 1| Rodics <k ondy
forc CD = 18 d) Since a, b, ¢ s a GP, 'E":‘é: "
.-.-8x._ ' ] e - bj(%) =LOj(;':%) / TM@safﬂdH
= "E%lr ar 53'71: o L"“ﬁ'ﬂ“ LOJc—Lojb = Lajb’iojq ! mau}outwbr. with
. law:
T ADOM, MD =4 48 =2(4x8) cos (&) - loga, Lag, loge " an a2 log "taws
K .+ '_uif_ N
- 16464 - (-32) [ | Cosire e M
mo® =z Le:trh%.cmnmmraﬁat?f-ﬂm@rp.
M - Nz (as Mp>0) < Saqau"fj mp C pear |
- i v = (gu-—
- "fﬁ om L?a_-f—)lojl‘ !
Perimeter. (s [‘H'iﬁ‘f'%{r c
loge = Lo
jc jo; + l.n f.r‘ /
~lo%a +2 jr
(5 an /440 uﬂufé
pjg_q’mm a’iﬁf vence is




e

‘&on TRiAL HSC  MATHEMATICS: Question... | O

2ol TBia Beo MATHEMATICS: Question..| {T)

Suggested Solutions Marks Marker’s Comments
2 (e P i A W) X ok Locr
o
T ) Lo Loreest lpmit
Pomoia . b Xas 1 of Qoo e

AT AT L o T e 3 gg,ds,,ﬁ_cnnno
oy ﬂc.:'\t\-z oS A < 3D

f‘CU‘\&-L

Sugpested Solutions

Marks

Marker’s Comments

Qi o~ W7
%
VO = VY

b Y
-m@‘ﬁ}av—«l_ e R I s

LX) —\s—("'

B3
T
et

#

= {6 Sy o ) ) |

= =\ \Sgﬂ-\

PNy~ 4 "
= o
(8. GF =2 LS oy 2
. De = aoner 280 Tan & 9
. Time, =D% 2 300o 3 oncoTond 1
SO 15
o I o W o L W Ui =
L LER. 220N e o Lo
o TeR T e Sec & » V36oa(iyTare
[N
‘ adecs vec.q,tueck ol
=. Q5258 |

o RS

12 Oaver ond. Bt noonz.od Dot M. s e

T leSheet = 2ol onS

e T SO NN 000 S

)
i
-
n

25t e Ton @m0 325G s
1T F il S TOR V=l 2 1= a = —

4 She oo (1 Soe O 15 1o @3}

oxy =

&%\‘ =% ﬁsm,.%ém.mq%wqai%m
SN

sty AR

[ N

CALLISTOSwffHom eS\WOHURAH M Fao Admin\Assessment info\Supgested Mk solns template._Vd.doc

(i eyt e Dec & i E a0 o
~ bSer = e O
by = A5 BTy
Cos(y C gy
Sea O = o
(S
st oalues
o | o2b et (B @021
N < S PSR M Wl Y=
eSOl - \

e e e S 1
: 3] Y-

B = m‘"f-“#’\
A=

38 Sigee s
g-zh S.S80n% eIy
e, slkeslaie. SaSN.

mﬂ:mf:%wﬁrwmm

e R T B RO T (S () meEee S b))

= {2 13 (2.de
= sl CandS, I('_not\v:s‘r secomn)

OR..Tesk noiuss.

A = RRCG—\S Sy )
S . LxBsc @) STen L T RGeS

P =TVt o T S Moo = [ Vo
= LCivoots Sec O
SRR - 5= Iy 5 < ot ~X= T e o T P T = e A Yo S = YT ==

= =) 32SmebR kS a. . 5.k REY

D SPEIS T S HE ah A !
e AR M E AT I HADE R AR
%é’ Qo TVGone | L2 oo 4 xS T o L msﬁ

aRrteienerestieert

; mmmm&mm
mmbm&d\ soden. oo, hes.an,

AR T e B o Wy Y

a—

‘s

BT 2, cmirnres 22 %ecandS

WCALLISTOVS InffHom e S\WOHVRAH M Fac Admin\Assessment info\Suggssted Mk zolns template_V4._doc




